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Public Administration

Paper II

THRIITTET
PyateRt 11

Time Allowed : 120 Minutes]
Note : This Paper contains Hundred (100) multiple choice questions. Each question

[Maximum Marks : 200

carrying Two (2) marks. Attempt All questions.

U STed. T YA e

AT : A YIAUCThd TR PO (100) SgTAE TeA ool ofRd. Uoieh WAl g (2)

The period known as golden era in

Comparative Public Administration

is :

(A) 1920-1940

(B) 1941-1960

(C) 1960-1976

(D) 1976 to date

Which one is the most popular

approaches in Comparative Public

Administration which has been

stressed considerably by Fred

Riggs ?

(A) Structural-Functional Approach

(B) Systems Approach

(C) Behavioural Approach

(D) Ecological Approach

From  human  development

perspective, democratic governance

means :

(A) Respect for people’s human
rights and freedoms

(B) People have a say in decisions
that affect them

(C) People are free from ascriptive
discrimination

(D) Policies reflect needs of present
generations

qTcH®  Elh-GIMHT=T IVl 1D

HaUihles EUA 3Hles@an Sl ?

(A) 1920-1940

(B) 1941-1960

(C) 1960-1976

(D) 1976 d ST

e oS Frerhed "ot QA SATele

TS AR watd TS

gftehE Sivar ?

(A) TEAHR-FHEHER GIOZhIA

(B) = gfeeshi

(C) ad-amRt gfesmr

(D) TFERVER! gitewhA

ATl foeRraTea gRU&Tgd, wihmE]

IMEhal oS

(A) TrehT=a AHETEHRR S0 T
Y

(B) TR QM1 Weiferd sheom=a1 fofama
A SR hLl Ad

(C) ik SUATCHS: WSHTEATIRA Hek
SHArd

(D) adiaM fadi=an TR gRoma Fhafos
fewrd

[P.T.O.



Who summarised the British
bureaucracy as orderly, symmetrical,
prudent, articulate and cohesive ?
(A) Herman Finer
(B) J.D. Kingsley
(C) Milton Mandell
(D) W.S. Sayre
What are the types of local
government in Japan ?
(@) Prefectures (b) Municipalities
(¢) Commune (d)County
Answer the question using the codes
given below :
(A) All the above
(B) Only (a) and (b)
(C) Only (b) and (c)
(D) (a), (b) and (c)
In which country these four types
of cities—Designated city, Core city,
Special city and City exist ?
(A) USA (B)UK
(C) France (D)Japan
Match List I with List IT and select
the correct answer from the codes
given below :
List I
(Statements)
(@) Development never can be
defined to universal satisfaction
(b) Development stands for
transformation of society
(c) Development means change
plus growth
(d) Development is probably one of
the most depreciated terms in
social science literature.
List 1II
(Made by Whom)
(1) T.N. Chaturvedi
(2) Colm and Geiger
(3) Brandt Commission Report
4) Uphoff and Ilchman
Codes :
(@ ) () ()
A 1 2 3 @
B 2 1 @ A
< @ 3 QO @

D 3 1O @ @
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(D) T=Y.TH. 9
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Sed ?

(@) TR (b) HfHfEdferet
©) ®FE. . () HS
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a1 o

A) (@), (b), (c) O (d)

(B) &dx (a) 3T (b)

(C) ®aes (b) 3T (¢)

D) (@), (b) 3T (c)

fefgres T4, HIeR fadt, werer fadt
31TFUT RSl SRR YehT=] T8 hIUTcl
TIMG IARd 7

(A) F 8T (B)g. .

(C) T}TFH (D)4

el quq%’_ql ITeT Sfesdl ST BIettel

(@ﬁ)
(@) Sfyersh THYMIAT foehrr= s
HLA A AR
(b) AN UREdrTer T
(¢) o w=ve sca o gat
(d) HrHATSTh ImeTeal Hifgedd foeh
TS A

(aﬁvﬁ ﬁﬁ)
(1)

2) W ﬁm
(3) =

(4)3114'@113#&1
ST o

(@ ) (© (@
A @O @ 6 @
B 2 O @ 3
@ 3 @O @
D 3 1O @ @




10.

11.

12.

13.

Origin of Public Interest Litigation

is associated with justice :

(A) Krishna Iyer

(B) Hans Raj Khanna

(C) Jagdish Sharan Verma

(D) Bellur Narayanaswamy
Srikrishna

Implementing social responsibilities

by Corporate sector enhances :

(A) Business Profitability

(B) Positive Satisfaction

(C) Consumer Satisfaction

(D) Corporate Efficiency and
Economy

Which one of the following is a mode

of Public Private Partnership in

India ?

(A) Divestment

(B) Design, Build, Finance and
Operate

(C) Disinvestment

(D) Collaboration

The concept of joint sector was

introduced in :

(A) Policy Resolution 1948

(B) Policy Resolution 1956

(C) Policy Statement 1973

(D) Policy Statement 1977

Privatisation and Disinvestment

owe their initiation to the Policy

Resolution of :

(A) 1977 (B) 1991

(C) 1998 (D) 2007

‘Navratna’ status was awarded to

public enterprises in :

(A) 1985 (B) 1991

(C) 1997 (D) 2007

10.

11.

12.

13.
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STHfed Arfaehe I A ... Ell
TR 3T

(A) P IT=R

(B) ¥® IS &

(C) ST IR0 oA

(D) SieeR ANHUETHT S0
ANTh A=A WIS STaTeg R
SYASSEUT § ATefad :

(A) HEHIHR Y

(B) Hh{cHeh HHIYM

(C) Uesh HHIHMN

(D) W wrEdegHa i fhqe
YA TTaSTeh @it YreRi=T T
JhR Weleieh] Il TR 2

(A) T

(B) Hehedd, e, o smfor &
(C) faftemt

(D) we&Am

T &FT HehouT
TYA JEATeld HI0A ST

(A) &0 3E-1948

(B) 4Rl 3E-1956

(C) &ru faum-1973

(D) &R fauE-1977

EITeTeTdeh ShITTcAl 0T JEATaTHES
EISTIeR0T ST FRaerenT oSt Jerel
T ?

(A) 1977 (B) 1991

(C) 1998 (D) 2007
TSR SUHHMT ek’ TSIl IO
23 i I F e ) o S |

(A) 1985 (B) 1991

(C) 1997 (D) 2007

[P.T.O.



14.

15.

16.

17.

Public enterprises get their working
capital from :
(A) Bank advance
(B) Cash Credit
(C) Non-plan loan
(D) Disinvestment
When the government sells majority
of its shares in a company to a
private sector company, it is
called :
(A) Privatisation
(B) Disinvestment
(C) Partial Disinvestment
(D) Strategic Disinvestment
Match List I with List IT and select
the correct answer from the codes
given below :
List I
(@) Plan Funds
(b) Non-Plan Funds
(¢) Grants for State Plans
(d) State-Specific Grants
List II
(1) Finance Commission
(2) Union Government
(3) Planning Commission
(4) National Development Council
Codes :
(@ b)) © @
A 3 1 @ @
B @O 3 @ @
< @ @2 @O 3
D @2 @ G @
It is known as a blank cheque given
to the executive by the Lok Sabha :
(A) Vote on Account
(B) Additional Grant
(C) Vote on Credit
(D) Exceptional Grant

14.

15.

16.

17.
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SSgT IMEATAT VTR HU=ATS TG
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(A) TSR
(B) TRAdeT=®
(C) =Tt TqarutiehTor
(D) TEIqavERr= IO
= 1 Hierd G 1T Seed 3 Seftal
Hehdlehlqd a4 Iar fael .
gt 1
(@) A e
(b) AT st
() T ISHAM M
d) T-fagme sreM
et 11
(1) foa smam
(2) 99 ITEA
(3) HASAT M
(4) T fawm 9RkoR
Hehdieh :
(@ b)) © (@
A & 1 @ @
B 1 Q3 @2 @
© @ @2 @O O3
D 2 @ G @
I AHEYT HrESHRI

YARYT U
(A) TEHEH

(B) sifaftert ST

(C) =RBUl 3TI<H
(D) AYARTHS QM

TSN

fede il




18.

19.

20.

21.

22.

A policy-cut motion ends up in :

(A) Cut in plan expenditure

(B) Suggesting an alternative
policy

(C) Change in government policy

(D) Rejection of a programme

Annual Grants-in-aid to the states

has been provided under Article :

(A) 264

(B) 271

(C) 275

(D) 280

It is a multistage destination based

tax :

(A) Income Tax

(B) Property Tax

(C) Sales Tax

(D) Goods and Services Tax

The key agency to initially translate
the constitutional provisions of a
social welfare state into practice has
been :

(A) Central Social Welfare Board

(B) Ministry of Social Justice and
Empowerment

(C) National Commission for SC/ST
(D) Planning Commission

Durga Bai Deshmukh award for
women development is given to :

(A) A woman social worker
(B) Voluntary organization

(C) Department of women and child
development

(D) Family counselling centre

18.

19.

20.

21.

22.
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T HU Y& Weedeh! SHeMeR
qiomg d ?

(A) THelial TE| U

(B) war &R gafao

(C) VAT €RUMG sgd

(D) FEHH AR

T HAHT Ada TSATESIAT dATfSih
S S AR G |

(A) 264

(B) 271

(C) 275

(D) 280

WTeATeTeh! IV SgEa™ Tded e
A YRR 3Ted 2

(A) 3IRT

(B) AT WX

(C) fommt =

(D) =% ST Jar

TS 0T TS S aigal TeIeid
ST STUUR Y@ AR H0 2
(A) &g TAN Heam TS

(B) GHITSIoh =T SO WETHIhTor HATeT
(C) 3L g AST URH M
(D) S =

Afgen fawraEgyid gme IvHE

TR o o S ?

(A) Al THS hdehdl

(B) THHet Hee
(C) Hfgem 9 STcAheao faym
(D) HZd FHEA w5

[P.T.O.



23.

24.

25.

26.

Who stated that social welfare
measures were essential but their
implementation should be
undertaken co-operatively rather
than as a function of state ?

(A) Fried Lanter

(B) Wayne Vasey

(C) Robert Owen

(D) Jawaharlal Nehru

The concept of ‘cultural lag” was put
forth by :

(A) Wilfredo Pareto

(B) K. Davis

(C) Ginsberg

(D) William Ogburn

Which one of the following is not
correctly matched ?

(A) B.P. Mandal Commission —
1978

National Commission for
Backward Classes — 1993
Backward Classes Commission
— 1953

National Commission for
Socially and Educationally
Backward Classes — 2015
Which of the following Articles of the
Constitution of India makes
provision for educational
advancement of the Scheduled
Tribes by Reserving Seats in
educational institutions and
granting scholarships ?

(A) Article 15(4)

(B) Article 16(4)

(C) Article 330 and 332

(D) Article 339(1)

(B)

(&)

(D)

23.

24.

25.

26.
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" TS HEATIT TS STETIS 3Ted Iy
T T FE T A, RN ]
SqAeSav 3o TRew R’ o™
faar Ivit w1 ?

(A) HES T

(B) 931 =4

(C) Ve e

(D) SERAE A8&

“mrepfae dioRR -8 GeedTr it
et ?

(A) ferhel W=

(B) =. sfzw

(C) e

(D) faeam e

TIeeren! HIV SIEl Jeod A&l ?

(A) .0 Hez TER—1978

(B) HRTH @& TR 3TENT-1993
(C) 9T Yeri STEr-1953

(D) wraTfaes erfor sterfores wTTE
A TS STENT-2015

ST ST WNeTforeR FEemmes ST
& 3o Rrsgesl 34 STyfed
ST SteIfiTeh IAEe! IR
HITLHT=AT ST SheTHId TG HL0AT

et 3y ?

(A) =™ 15(4)

(B) s 16(4)

(C) o™ 330 aAfor 332
(D) =heH 339(1)




27.

28.

29.

Assertion (A) and Reason (R) Pattern :

Assertion (A) : Economic Planning

can partially solve

the problem of
social justice.
Reason (R) : Economy is the

wheel of society.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

Both (A) and (R) are true but
(R) 1is the
explanation of (A)

(C) (A) 1s true but (R) is false
(D) (A) is false but (R) is true

Which of the following do not
provide social welfare services
throughout the whole world ?

(A) World Health Organisation
(WHO)

(B) Red Cross
(C) United Nations Children’s Fund
(D) U.N. Security Council

The National Commission for

(B)

not correct

Minorities celebrates ‘Minorities
Rights Day’ on ......................

(A) 24th April
(B) 25th December
(C) 8th March
(D) 18th December

27.

28.

29.
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faum (A) &fr &R (R) 91 ¢
faam A) :

SNPCARERIEEIRSIE I Ca
AT HHE ;g

ITehdl.

HRUT (R) : Srefegeaeen 9= <6
3R.

Hehdiah :

(A) (A) 3T (R) St SR 3TTed ST
(R) ¥ (A) = 39 favaiwr omg

(B) (A) 37T (R) S8t sk 3TRd Wy
(R) B (A) = 319 fawaioo A&t

(C) (A) /9% 3R WY (R) B I% 3R

(D) (A) =% 3@ W (R) 3HF 3R

I FESAT SR WER U ShedT]

HId TEURT AT ?

(A) SFTfaes @WEed e (WHO)

(B) T ™

(C) Fg=a g ot feft

(D) HIK U Geam afog

TG AL TN ¢ AT EATH

sty feaw’ arfeasit |en &d

...............
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30.

31.

Match List I with List II and select
the correct answer from the codes
given below :

List I
Article-14
Article-15
Article-16
Article-17

List II

(@)
)
(c)
d)

(1)
(2)
3)
(4)

Equality before the law
Prohibits untouchability
Equality of opportunity

Prohibits discrimination on
grounds of religion, race, caste,
sex or place of birth

Codes :

(a)
A 1)
B) )
e @O @ B @

D @ 2 QO 3
Who defines public policy as
‘Authoritative allocation of values for

(b)
(2)
(4)

(c)
3)
(2)

(d)
4)
(1)

the whole society” ?
(A) Peter Self

(B) Thomas Dye
(C) Y. Dror

(D) David Easton

30.

31.
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T 1 Ererd =it 1Ter e A1 Errefie
Hehdlehq A e Feret

il |
(@) hcTH-14
®)
()

(d)

hefH-15
heTH-16
hetH-17
e 10

FIICATHHR HA
SRYLAA Hiael
= A
o, 991, 3, o fean s=rem
AEE AeuEE Yiaay
Hehdiah :

(@)
A) (1)
B) )
< @O @ B @
O @ @ 1O 3
Ul FESTERl e Sifaga faae
RS eI R0 2 g e
FoTE 7

(A) X 9%
(B) 9MH¥ B
(C) 9™ gR

(D) efws T=A

(1)
2)
3)
4)

(b)
(2)
(4)

(c)
3)
(2)

(d)
(4)
(1)

10



32.

33.

34.

35.

Who said, ‘Policy Analysis is both
Art and Craft’ ?

(A) William Dunn

(B) Aaron Wildvasky
(C) Charles Lindbloom
(D) E.S. Quade

Which three ‘policy evaluation
criteria were suggested by Thomas
Smith ?

(A)

’

Policy design, Policy process
and Policy achievement
(B) Policy making, Policy approved

and Policy implementation
C)

Policy achievement, Policy
process and Policy evaluation

(D) Policy process, Policy plan and

Policy approval

Which one is not a hall-mark of post-
positivists approach to policy
studies ?

(A) Subjective Reflection
(B) Normative Analysis
(C) Quantitative Analysis
(D) Argumentation

According to whom ‘Lindbloom’s
Incrementalist model’ of decision
making was quite conservative and
unsatisfactory ?

(A) Harold Lasswell
(B) Y. Dror

(C) David Easton
(D) Thomas Dye

32.

33.

34.

35.
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HIv e, * G0 fageroor § e 2for
HRT 3 Tl e’ ?
(A) faeaq =4

(B) A facsahi

(C) =mey faes

(D) 3.UH. S

g fey Ar=mehed ®Ivd dF ERo

oA ehs geifad Tl ?

(A) RO Feheud, €RU WihAT (0T
0T Tl

(B) &ru faufwor, eiwor A= afor
RO STHCSSTevt

(C) EROT YT, €Ior Gfshan Sfor &=
b GLIRE]

(D) &R0 Yfrar, €Ror e emfor
RO AT

N7 AITETAT SI-geIamelaarg
e ETetiel hIvId Teh JHToT SfeTees
e ?

(A) FfFIa fodq

(B) TE¥IcH® fageiom

(C) e fagao

(D) Fferiarg

v Hd, ferssem o= o o=
geeieia gfaa™ quHaaR! S
AYHYTThNE 3R ?

(A) Rice aad

(B) 9. gR

(C) SHts T&=A

(D) 99 ™

11
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36.

37.

38.

Policy streams perspective of agenda

setting is advocated by :
(A) Roger Cobb

(B) Charles Elder

(C) John Kingdon

(D) James Anderson

The Implementation game is a
seminal work of :

(A) Jeffrey L. Pressman

(B) Daniel A. Mazmanion
(C) Peter Hupe

(D) Eugene Bardach

The official policy makers are .........
(1) Legislatures

(2) Executives

(3) Administrators

(4) Civil society

Select the correct answer from the

codes given below :
Codes :

(A) (3) and (4)

(B) (1), (2) and (3)
(C) (2), (3) and (4)
(D) (1) and (4)

36.

37.

38.
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faS aX Gia)

HYQl [HTHA=A]

0T GaTe gy &I

...................

(B) =f1ae w. weHiHaA

(C) fuzx =&

(D) g5 9REh

EARIGRIE M Cu B i B s
(1) fodies

(2) HEHR

(3) INIMHE

(4) AW el

Tt AYA A W Haer .
Hehdich :

(A) (3) smfur (4)

(B) (1), (2) 3mfur (3)

(C) (2), (3) =T (4)

(D) (1) =for (4)

12
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39. Match the following List I with List | 39. =t I Hieid =i ITeT Sfeea 301 Wiiefiel
IT and select the correct answer from HhdihRA ard I el :
the codes given below : 'Fﬁﬂ' I
List I
(@) David Easton (@) <CHIS A
(b) Dror Y. (b) SR ™.
(¢) Nagel Stuart (ed) Hurfed
(d) Dunn William N. ) T o ( )
List II (d) = =eaH T
(1) System Analysis of Political Life o 1T
(2) Public Policy making Re- (1) TSThd SToAr e fagaso
examined
(3) Public Policy Analysis (2) WS SR AT grte
(4) Public Policy Analysis—An (3) WrefSifeR #Ror fereesor
Introduction (4) S ¥R foversor—yfas
Codes : HadiF :
(@ ®) () () @ ’(b) © (@
A @ 6 @ @ @ ¢
B) 2 @ @O G A @ 8 @ @
€ 1 @ B @ B) 2 @ @) @3
D B 1 @ @
40. Assertion (A) and Reason (R) © @@ @ @
Assertion (A) : Participatory | 40. faum (A) s7for RO (R) F91 :
approach fo goliiy foam Q) : s fafifdiean wewrh
making leads to - .
adoption of better g TS AT HIT
informed policies. IRESNASIGA
Reason (R): Parliisicipatory approach &ROT (R) : 9Tl gftewis fafaw
takes into SRR T fERE
consideration the NP QTT il - i
views of different @il feoiel Hehdieh dTa&A J9ATd 3T
stakeholders. o oe
Answer the question using the codes HeaaiE
i below : ’
Codes : ) T (&) T (R) TR
(A) Both (A) and (R) are true (B) (A) =71 (R) sRIeR 37ed 7T (R)
(B) Both (A) and (R) are true and T (A) ¥ WEIR 3R
(R) is the explanation of (A) (C) 9% (A) SR T2, (R) Y
(C) Only (A) is true, (R) is False ’ kS
(D) Both (A) and (R) are true, but (D) T (A) AT (R) SR 71, w0
(R) is not the explanation of (A) (A) & (R) 9 Tieniul @l
13 [P.T.O.



41.

42.

43.

Match List I with List IT and select
the correct answer from the codes
given below :

List I
E-Seva
Bhoomi

Setu

(@)
b)
(c)

(d) Gyandoot

List II

(1) Maharashtra

(2)

Karnataka
(3) Madhya Pradesh
(4) Andhra Pradesh
Codes :
(@)
(A) (2)
(B) (2)
e @ 1 G @
D @ 2 @O G

Delegated legislation is an outcome

of the positive role of :

(A) Citizens (B) Executive

(C) Technology (D) Values

World Bank for first time in 1989

highlighted the concept of good

governance. Which of the following

is not its dimensions ?

(A) Public Sector Management

(B) Accountability

(C) Legal Framework
development

(D) Democracy

(b)
(4)
3)

(c)
(D
(1)

(d)
3)
4)

for

41.

42.

43.
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= 1 Frerd G 1T Sesd S0 Eefiel

Hehdehiqd arg e fae
T 1
(@) -9
(b) ot
© o9
(d) Smgd
e 10

(1) WeERTS
(2) wAteH
(3) HEAYRW
(4) sTggS™
Hehdieh :

(@ b)) © @
A @ @ @O O
B 2 B O @
) @ @O 3 @
O @ 2 QO O
TET RTTCT B covvvreeenvreeennns gR e
HhNIcHe ANEMATET qRUMH - T
(A) iR (B) HH&RI A
(C) T D) T

Smifass d@R" 1989 W HAYUH
‘G-I’ & FeheuT YeRTRTSIATd SATUTCT.
WeTeden! UM ©e AW e 2
(A) TrESITeh SUHH HILYTIA

(B) IWaIIA

(C) forEMEEET HERR dehe

(D) AreRITEl

14



44.

45.

46.

47.

48.

The following is not a salient feature
of new public management :

(A) Output oriented administration

(B) Process oriented administration

(C) Privatization

(D) Major emphasis on cost cutting

Digital Divide is :

(A) More effective linkages between
Citizens and Government

(B) Improved  efficiency  of

government workers
(C) Gap between groups having
access to technology and
without technology
(D)

Partnership between public,
private and civil society

Gender Related Development Index
attempts to capture

(A) Human Poverty Index
(B) Adult Illiteracy Rate

(C) Gender Disparities

(D) Human Development Index

12th Annual Convention of the
Central Information Commission
was organized on :

(A) 6th December, 2017
(B) 6th December, 2016
(C) 6th December, 2015
(D) 6th December, 2018

The concept ‘Droit Administratif’ is
related with :

(A) Good Governance

(B) Administrative Law

(C) New Public Service

(D) New Public Management

44.

45.

46.

47.

48.
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qagﬁ%\ fqa“iummﬁ nea dfersew

@refietdsh] &l :

(A) SRS J9THA

(B) ishaniyqeE g

(C) TISTiTeRu

(D) ¥ FHUCER &I SR

‘festiea femes’ BN

(A) e sTfor eeAmed SAfeen goret
Sesuit

(B) ITHhIE HHATATT el GURd

(®) ﬁ;flﬁ 3Me- 3o AE-Y Terehia

(D) <k, @rerit ST AT SISt
RIUIEE]

femasieft faenm f

- .
<3Teh B UT ShoaT]

......................

EEAR W:’iﬁﬁ‘ﬂﬁ pajﬁaﬁm LIEC
T Gl 3ATIANSId ohedl BIdl

(A) 6 fedsr, 2017

(B) 6 fedsr, 2016

(C) 6 fedsR, 2015

(D) 6 fedsR, 2018

‘grée STSfHdi®’ &1 GehourT areett
Tafd e :

(A) gemEd

(B) WRTHHE HIIC]
(C) 79 s gal

(D) 9 <k HILIA

15
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49.

50.

51.

52.

Who termed third world countries as
soft states ?

(A) U.L. Goswami
(B) Weidner

(C) Gunnar Myrdal
(D) Donald Stone

The origins of the Right to
Information Movement lie in :

(A) Devdungri, Rajasthan

(B) Jhunjhunu, Rajasthan

(C) Bikaner, Rajasthan

(D) Jaipur, Rajasthan

According to whom “ to decide upon

the right problem of research is half
way to success” ?

(A) George Holmes
(B) R. L. Eckoff

(C) Lundberg

(D) Goode and Hatte

Which of the following is not an
advantage of using closed questions
in a survey ?

(A) It reduces the risk of variability
in the way answers are recorded

(B) It makes answers easier to
process and analyse

(C) They present respondents from
giving spontaneous unexpected

answers

(D) Closed questions are quicker
and easier for respondents to

complete

49.

50.

51.

52.

SEP - 21221/I11—C
SHIOT=AT Al FIE SATwdiel Tee Helled T
Y e Sd ?
(A) g. TA. T
(B) de
(C) TR fatsd
(D) SHEE ©H

(D) SEQT, TSTEATH

" geie T fast 9 IR
sl Amt gol g’ € e s
R ?

(A) S B

(B) 3R.UA. THIh

(C) e

(D) T o g

T Sfed I aTRUANE B
WAkl ShIvd TR 2

(A)

ST AREdHT Fekdal €T AT ]

Bl

Ao AT Tfohan 3TfuT forgersm

HO Y B

SEERT  STTUferd IR QUATIRYA

gfaTgeRi STeal sl

(D) S T WiTHReR Iuf SHIuArTe
Iy 9 9 ST

(B)

(&)
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53.

54.

55.

56.

57.

The term ‘secondary analysis’ refers

to the techniques of :

(A) conducting study of seconds and
other measures of time

(B) Analysing your own data in two
different ways

(C) Analysing existing data that
has been collected by another
person or organisation

(D) Working part time on project
along side other responsibilities

This method entails in-depth study

of any one unit of social life :

(A) Field study

(B) Case study

(C) Experimental method

(D) Survey method

Which one of the following is not a

fundamental principle of scientific

research ?

(A) Empiricism

(B) Moral Neutrality

(C) Objectivity

(D) Definiteness

“A questionnaire is a list of

questions given to a decided number

of respondents for them to answer”.

Who stated ?

(A) P.V. Young

(B) Bogardus

(C) Johan Galtung

(D) M.L. Bowell

The outcome of an interview may be

faulty due to its :

(A) Flexibility

(B) Easy administration

(C) Subjective interpretation

(D) Less anonymity

53.

54.

55.

56.

57.
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‘gem faweem’ a1 Heheuen wedf A

TART T

(A) Qg 3T e AR HYATAT
A TSR

(B) S SRTexI SIS e STERAT
fagerom

(C) s Fal foram oA Hehford

(D) TR TAEEATAT S ThedTer
AYdew haAd M

T UG THS ST ShivcaTs! Tahl

qHEl TEE Y AR Sl ¢

(A) &5 I

(B) =T &z

(C) TANTcHS gt

(D) we&m ggd

IS FNEAT WEAedeh] IV JeAYd

qw @l ?

(A) TSR

(B) Hfdeh deweran

(C) ogfTeam

(D) Tfe=dan

" eATeEl STRN TR WRATE YT A S

Ffe=rd shetean gfadeeReRe 3™ eTafard

Aaaa’’ & A wIomEr ?

(A) dregr 4w

(B) @rmed

(C) SieM e

(D) TH.UA. e

Ao HeATerd=n IRuMH § Tehial 37

I

(A) wafeehdl

(B) €U YRIEA

(C) fowatss frd=r

(D) 39 ATHehdl
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58.

59.

Match List I with List IT and select
the correct answer by using the
codes given below :
List I

(@) Exploration
)
(c)
(d)

Description
Explanation
Diagnosis

List II
Research tries to establish what
the problem is and which factors
or actors contribute to the
problems

(1)

(2) Research that investigates a
subject about which little or no
knowledge is available
Research in which the causes of
a certain problem are sought or
studied
Research in which events or the
characteristics of a certain
subject is described
Codes :
(@)
A 4)
(B) 2)
<o O @ 3 @
O @ B @) @
The element on whose basis the
sample is taken out from the total
universe is called :

3)

(4)

(b)
(1)
4)

(c)
(2)
(3)

(d)
3)
(1)

(A) Sampling fraction
(B) Sampling trait
(C) Sampling frame
(D) Target population

58.

59.
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= 1 Head =il 1Tel Sfesen i @eflel
Hhahqd ard I e
et 1
HAO0T
LG
TSR]

IR
e 11

TYNEF TEE YEIOd v
T S A0 THRT I S
afifor S1fYehd I <A
TINeE 7 3191 fasare = i
g9 ene faar sifserd ™
IqeTsY AR
TYNYE S fafyrse Tuee= SR
et fopar SRt S
T s faferse fosamen s
fopen afyreegi= avfq e/ q
Hehdich :

(@)
A 4)
B) 2)
<o @O 2 & @

D @ B @) @

3T 52 ST STER THY THARA T
fasa S, S99 3™ WU ¢

(A) 1 TS

(B) 1 orer

(C) AT wrhe

(D) @ferd whee

(@)
)
(c)
(d)

(1)

(2)

3)

(4)

(®)
(1)
(4)

(c)
(2)
3)

(d)
3)
(D

18



60.

61.

62.

63.

Which of the following is not a

plagiarism software ?

(A) Copyscape

(B) SPSS

(C) Plagscan

(D) Authenticate

The relationship in which a superior

exercises direct supervision over a

subordinate is :

(A) Staff authority

(B) Line authority

(C) Auxiliary authority

(D) Both
authority

staff and auxiliary

It is not a factor of internal
coordination :

(A) Ability of superiors

(B) Skill of subordinates

(C) Singleness of purpose

(D) High level conferences

“It is a form that authority assumes
when it enters into a process” ? This
is true of :

(A) Communication

(B) Coordination

(C) Leadership

(D) Motivation

60.

61.

62.

63.
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TTeATeTeh! IO ATEHIEE  HITUTR
JoTelt A ?

(A) HIdr=hY

(B) TH.UI.TH.TH.

(C) =ATEhd

(D) EASHe

asS SHITS3MeR Tea& Tefol&fur shidmd 3T
TEY WIS

(A) Fer=Fehidl 3TfHeRR

(B) Wil sifrepR

(C) TYH T 3TUehR

(D) T FERASRT 3T HieA HeEsh
Al

STAA THSATA VIEATCTdeh! ShI0Tdl S
e ?

(A) afss= &man

(B) hiTs™ e

(C) fe=e=l Thardn

(D) J=u&RE aiEg

TiRad ToRT BeaHat AR ©R
EWEY 3 T :

(A) TG

(B) "H=

(©) g

(D) g
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64. Assertion (A) Reason (R) Pattern :

65.

66.

Assertion (A) : Publicness in Public
Administration is a
complex-structured
concept.

Public Admin-
istration differs
from private
administration with
regard to at least
three major
dimensions—locus
(agency), focus
(public interest)
and access
(openness).

Reason (R) :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) 1s not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

Supervision is to :

(A) Check compliance
instructions

Deter or detect wrong doing

Fitting each person
harmoniously into the working
group

(D) Control staff

Lateral entry is the form of

recruitment normally considered
for :

(B)

with

(B)
(&)

(A) Lower level positions
(B) Middle level positions
(C) Higher level positions

(D) Lower and middle
positions

level

SEP - 21221/11—C

64. faum (A) =1 RO (R) T ¢

65.

66.

Ald JITEATATA
T SfAwar € uH
Al HeheddT 3TR.

fagam™ A)

dlE gIMEd IS
YMEATI&N YeEra o=
gfesrgE i s mR—
wrhd (GTAT), HIRT
(SHfea) sufor sfedw
(eI -

%uT (R) :

Hehdieh :

(A) (A) 3for (R) SI81 SIS ST1ed S0
(R) T (A) = Ay fawemm oy

(B) (A) 3101 (R) Sl shIsR 37ed W
R) T (A) = I faverwor A

(C) (A) = 318, Tg (R) & I MR

(D) (A) IF TR, W (R) T 31

AT T :

(A) HIEqHE QT qUEd

(B) 3T=d INYd ST 3Eeha =eld

(C) Yk FedIedl THSEIN ShiEed

TaTfas &
(D) wHal A0
TATMAHES TIRETHT JoRm=a FhRT=T
FHU et faar g ?
(A) Fe=adE 9Tl
(B) HEATERIT YIS
(C) aftsswaia gt
(D) freeda 9 AeAHEdd uerEne

20
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67. Promotion means : 67. UG-l WUNS :
(A) Change in responsibilities (A) SEEEREE d5d
(B) Change in responsibility and (B) SEER 37Ul qemed ded
designation (C) =l
©) Transfer‘ ' ' (D) WS FTd
s §D>f Chaliget in designation (g | 68 FRTARE FRIET
. Informal training is imparte ST
through : | . R <
: (A) fafeshe wgdt
(A) Syndicate method R
(B) Lecture method (B)
(C) Trial and Error method (C) woIet-5HE. gl
(D) Case study method (\D) = 31%2,?1:[ il )
69. The main leadership approach that 69. ATl THY GIeZehA Tl HHEIE FehlRT
focuses on small group is : EETINE
(A) Situational (A) TR
(B) Traitist (B) TomcHh
(C) Contingency (C) HITHICAN
(D) Participative (D) Hewifire
70. Match List I with List IT and select | 70. =T I Sed =T 11 & Seda 30T Teia
the correct answer from the codes {-ic%ciichlq\d g 3R et .
given below : W I
List I (@ g e
(@) Leac'lers'hip process b) W& vE
(b) Motlvatlo.nal. forces © W I
(c) Con.lrpumcatlt')n process d) Fota whwa
(d) Dec1s1or£-.m:lil1;1g TR 10
is Aot sl
(1) Friendly interaction L)
. (2) ER-AMYsh T2
(2) Overlapping groups
(3) Group participation 3) W,\W .-
(4) Confidence and trust (‘%) ‘j’“d'“owo“{" q TR
Codes : Hehdleh
@ @B € (@ (@ ®) () ()
A @ 3 @O @ A @ 3 @O @
B @ 3 @ @ B @ B @ @
< 3 1 @ @ © Q3 1 @ @
D @O 3 2 @ D @O 3 @ @
21 [P.T.O.



71.

72.

73.

74.

The classical thinkers believed in :
(A) Wider participation  of
individuals in the organization

Rationality of individual
behaviour

Existence of informal
organization within formal
organization

Organization as a structure of
authority

One of the following is not a feature
of modern organizational theory :

(A) Decision-making
(B) Fact-value dichotomy
(C) Organizational humanism

(D) More recognized sources of
authority

‘The matter of giving orders seems
a very simple affair; on the other
hand surrounded by many
difficulties’, who observed it ?

(A) Peter Drucker

(B) Chris Argyris

(C) Chester Barnard
(D) Mary Parker Follett

According to Luther Gulick, why he
divided work, is based on :

(1) Men differ in nature
(2) Men differ in capacity
(3) Men differ in skill

(4) Gain greatly in dexterity by
specialization

Codes :

(A) Only (1)

(B) (1), (2) and (3)

(C) (1), (2), (3) and (4)
(D) Only (4)

(B)

()

(D)

71.

72.

73.

74.
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TS foarEa © fava™ &ad .
(A)
(B)
(&),

geead HEl A TN

KIS AT < dlfchehal

AT=arfier FoeAdia ST
TeeTa 3T

(D) WeeA B WIfHeRET =
WeAeish! T sMyfeh Fee fagam
éﬁ'l‘@ HT@‘ :

(A) frofa wfsman

(B) d-Hea fgure

(C) FueATHE HHadETE

(D) e sifyes sifasha 9
‘oTeE T & S LU Wes TR e,
I Sl i 3Tk STSHeed ! decialt
sEd,’ © Tlem s ?

(A) T g

(B) forg sniilig

(C) ==X A8

(D) T e i

TR TR ATAT{HR, &I &I
fayrma ?

(1) ¥Fe F@yE =

(2) HME &Hdl =

(3) AMa Hived =

(4) faSTeRToMER AqUIT Hiel WIHRT
Hehdieh :

(A) w (1)

(B) (1), (2) o (3)

(C) (1), (2), (8) i (4)

(D) ®E (4)
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75.

76.

One who passes unfavourable
information about his colleagues to
the superior is called :

(A) a rate buster

(B) a chesler

(C) a squealer

(D) a cheater

Assertion (A) and Reason (R) pattern :
Assertion (A) : Bureaucracy is a
major element in
the rationalization
of the
world.
The
social
contributed to the
of

modern

Reason (R) : protestant

ethics

ascendancy

Bureaucracy.
Codes :
(A) Both (A) and (R) are true and

(R) is the correct explanation
of (A)

Both (A) and (R) are true but
(R) the
explanation of (A)

(A) is true but (R) is false
(A) is false but (R) is true

(B)

i1s not correct
©)
(D)

75.

76.
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TEET ghiaigee Mqedr ofisa

.....................

faum (A) &fr R (R) T ¢
faam™ (A) : oMYTw S Aok

TeReEl q&d o 3Te.

HROT (R) : A W@UE=ar  fawtam

-~

IR | i Fear

IR 3R

PO
(A) (A) 9 (R) TI=I seR 3Ted 3for
(R) ¥ (A) ¥ 3T9h TR AT

-~

(B) (A) ¥ (R) =l & 3fRd W
R) T (A) o 3T TI=IRI ARI

(C) (A) T R 3¢ W (R) T 9%
3

(D) (A) I 3R g (R) T IR 3T
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77.

78.

Match List I with List IT and select
the correct answer from the codes
given below :

List I
(Books)

The Science of Muddling
Through

Public Policy
Re-examined

(@)

) Making

Administrative Behaviour

(c)
(d)

The Human Problems of an
Industrial Organization

List II
(Thinkers)
Yezkel Dror
Elton Mayo
Charles Lindbloom

Herbert Simon

(1)
(2)
3)
4)
Codes :

(a)
(A) 3)
(B) (1)
< @ 2 @O O

D 2 1 @ A

In US, which one of the following
is the President’s principal staff
agency in fiscal, legislative and
administrative management ?

(A) The Executive Office

(B) Office of Management and
Budgeting

(C) White House Office

(D) Office of Administration

(b)
(1)
3)

(c)
4)
(2)

(d)
(2)
4)

77.

78.
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Tt 1 e gt 1TeT Sesa ST |t
Hhawi[ g I el

e 1
()
3 W offe gesfam g
(b) dfsersn uifadr Afen Ruwafrs
() ofefiRfes fae=si
(d) < T Al STk 317 grefgad
EUUEIRERE
T 11
(feemta)
THRIFA R
Teed J
(3) =y feresH
(4) B HIHA
Hehdieh :
(@)
(A )
(B) (1)
©C @ @2 @O A

D @@ 1O @ 3

SRehdie foxita, Senfer ST weTEe g
TN A TSqAS & hIARR]
AfYHTTT WIefieden! S| 3R ?
(A) FHESRN HIH

(B) LTI 30T STETSTISIh 9 hiierd
(C) w®ES THY HEAH

(D) WA FHrEed

(@)

(1)
2)

(®)
(1)
3)

(c)
4)
(2)

(d)
(2)
(4)
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79. The characteristics of Post-modern | 79. W 3MYfieh Taem= T Af¥Ted mea :
Societies are : (1) vRferds=
E; iltu.atllorllaal L @) dfEs Teneaetas

ogica (?s1 ivism @) s
(3) Consumerism .
(4) Decentered self (L%) . A
Codes : Fehalleh :
(A) (1), (2) and (3) (A) (1), (2) 3701 (3)
(B) (2), (3) and (4) (B) (2), (3) 3101 (4)
(C) (1), (3) and (4) (©) (1), (3) =T (4)
D) (1), (2), (3) and (4) D) (1), (2), (3) =71 (4)

80. Dwight Waldo in his book “The | 80. Tde =il Mdedl ‘WRMEHE T =1
Administrative State’ attacked : 'l;[a]ﬁ {94|q-|“|q-| q|qq|‘o|{ AT <hidid
(1) Notion of unchanging principles (1) WITEAET I Seovarst e

of administration . an -
. . (2) FEEAdIA "l |l
(2) Human emotions in .
organization 3) IQSIEISEI[ q HTHEHAT A HEAr
(3) Narrowness of values of '
economy and efficiency (4) T FEiRa Hvar= STETa gt
(4) Inconsistent methodology used AT
to determine principles Hhdieh
Codes : (&) (1) s (4)
(A) (1) and (4) (B) (2) =7 (3)
o e (©) (1), (3) i (4)
(€} (D), (8) and {4) D) (1, @ s (3)
(D) (1), (2) and (3) Se ~ Ao s
81 As per Kautilva’s thoughts. who 81. hIlEHHT=A [A=RITHI, dAll¥en HQISTH A
' P Y s, F TR FQ 2
prepared the annual budget ?
(A) Samaharta (&) g
(B) Amatya (B) ST
(C) Samnidhata (C) gt
(D) Swamin (D) et
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82.

83.

84.

According to the Government of Act,
1858 the powers of the crown were
to be exercised by whom ?

(A) The Prime Minister of England
(B) Queen or King of England
(C) Governor-General of India
(D) The Secretary of State for India

The Britishers introduced the
portfolio system in the colonial
administration in India in the year

(A) 1861
(B) 1859
(C) 1853
(D) 1861

Which of the following statements
are not incorrect ?

(1) The EVM and VVPAT are
being manufactured by
Electronic Corporation of India
Limited, Hyderabad.

The EVM and VVPAT are
being manufactured by Bharat
Electronics Limited, Bangalore.

(2)

3)

Presently, there are two models
of EVMs—M2 model and M3
model.

Codes :

(A) Only (2)

(B) (1), (2) and (3)
(C) (1) and (3)

(D) (2) and (3)

82.

83.

84.
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A <hTIQT, 1858 ATEN REEHE
ATYRR hIUMHST MRA S ?

(A) TTeed qaue™

(B) Sreiedt ot femar T

(C) YA TTeg{-STe

(D) 9Rd g

TRATAS aETedeh JeTeATa ferfeen=t @
I5d A1 IS AN el

(A) 1861

(B) 1859

(C) 1853

(D) 1861

EefeeR! &IV fau™ ges TR ?
(1) zoaaeifie wiaRem o gfem
fafqes, SR S.&8.ug. 3Tfo
LA LIAT IAET el oM.
IR soRIee fafiee, STeRgR
B e M| ) B e e R B
IR el S

T, M2 Higa Tfor M3 Afea 3t
TR S Aed e
Hehdieh :

(A) e (2)

(B) (1), (2) =mfor (3)

(C) (1) efur (3)

(D) (2) efor (3)

2)

3)
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85.

86.

Match List I with List IT and select
the correct answer by using the
codes given below :

List 1

(@) College of Fort William

(Calcutta)

The Indian Council
(Morley-Minto)

b) Act

Simon Commission

(c)

(d) The Government of India Act

(Montague-Chelmsford)
List II
1806
1909
(3) 1927
(4) 1919
Codes :
(a)
(A) (D)
(B) (1
< @ 2 B @
D B @ @O @

How many broad areas of
specialization have been
recommended by second ARC for
organising the administrative
machinery ?

(A) 2
(C) 8

(1
(2)

)
(2)
(4)

(c)
3)
3)

(d)
(4)
(2)

(B) 4
(D) 10

85.

86.

SEP - 21221/11—C

g 1 Hieaa gt 1Te Jeodn ST @rnetta
HehdlehIqd ATd I feren

T 1
(@) W faeoyq wfas (Shathdn)
(b) WA AR eifafem (Hiel-THe)
(c) TIHA HiHeH
(d) «1d ESEE R
(AI=g- =)
T 11

arferfaan

1806
1909
(3) 1927
(4) 1919
Hehdich :
(a)
A D
B) 1)
© @

(1)
2)

®)
(2)
4)
2 @
D 3 @ @O @

GYIEehd FFOAT AR I
IIMHRTT  FER ATHIA
forgrsiteRtum=an =amaen &=t Ry

Hhefl ?
(A) 2
©) 8

(c)
(3)
(3)

(d)
4)
(2)
(1)

o
lendl

(B) 4
(D) 10
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87.

88.

89.

Which of the recommendations given

below were made by the National

Police Commission to curb the

misuse of the police ?

(@) Tenured office of the chief of

police

Constitution of permanent state

security commission

To implement measures to hold

police accountable to the people,

to the law and organisation.

Select the correct codes :

Codes :

(A) (a), (b) and (c)

(B) Only (a) and (c)

(C) Only (b)

(D) Only (c)

Constitution of NITI Aayog in 2015

is :

(@) An ideological response to
change socio-economic milieu

(b) A response to post-colonial

dirigisme state

Considered as critical in growth

and development

Answer the question using the codes

given below :

Codes :

(A) (@), (b) and (c)

(B) Only (c)

(C) Only (a) and (b)

(D) Only (b) and (c)

Under which Article of the

constitution the Council of Ministers

is collectively responsible to the

Legislative Assembly ?

(A) Article 163

(B) Article 163(2)

(C) Article 164(2)

(D) Article 164(3)

(b)
(c)

(c)

87.

88.

89.

SEP - 21221/11—C

TSI Nferd ST T SRR
3] HTUAHIE! Weld fGeied Shiv
gl oAl g 7

(@) difed HATG HhID
) Wg%a@ﬂﬁrwﬁm

(c) qﬁﬁm AU dleh, <hlAQT 9 T

WR%WWW

~

STHCASSITEON Shol.
& ehdle fEel

Wehdieh :

(A) (a), (b) 3T (c)

(B) &da (o) MU (c)

(C) e (b)

(D) &aes (c)

:;L 2015 HEY Il SAENTET TATIA
(@) TH aCAATHT FraTISTh - ATI e
Tfiifeery d=iier gfqdre 89
(b) TEEA-IW fefgm T=a™ yfaag

() TSI U1 faerrTd STcATERdh A

SN\

@] feerel Hehdieh aTqe 93T ST
1

ﬂ%ﬁﬂ'l%ﬁ :

(A) (a), (b) 3T (c)

(B) &dx (c)

(C) des (a) 3 (b)

(D) wdes (b) A (c)

A=A S0 HAHIATT HITHS S
MfehTd faeamaden SaERER TR ?
(A) HeH 163

(B) ™ 163(2)

(C) &cH 164(2)

(D) ™ 164(3)
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90.

91.

92.

93.

Which of the given below is an
executive body ?

(A)
(B)

The Staff Selection Commission
The National Commission for
Minorities

The National Commission for
Women

(C)

(D) Election Commission

Who submits the annual report of
the State Public Service Commission
to the State Legislature ?

(A) The chairman of the State
Public Service Commission

(B) The Chief Minister
(C) The Governor
(D) The Chief Secretary

The Legislative Council can be
created by :

(A) Amendment Act of Parliament

(B) Resolution by the Loksabha

(C) Resolution by Legislative
Assembly

(D) According the Article, 169

Which one of the following
statements is incorrect about the
Chief Secretary of a State ?

(A) He is the Head of the Civil
Service in the State

He is the Secretary to the State
Cabinet

He is the principal advisor to
the State Chief Minister

He does not supervise the
execution of Cabinet decisions

(B)

(C)

(D)

90.

91.

92.

93.

SEP - 21221/11—C

[a) o N

Tt el S FREGRT HEs
AR ?

(A) FHE fag s

(B) U STeqwEAeh SN

(C) Tedta wfget 3TN

(D) fAereves &M

ST Ak Wl AR—NTET aTftieh 3T8aTd

USATAT HTIRHSRTHES BT FET
wA ?

(A) T dih Hal SRR =SRAT
(B) it

(C) TsIUTed

(D) qea afed

fagraieR= M Sl S
(A) I FSAGERIT ™

(B) leh@¥dd 30 U &

(C) faurEdd StE URid e

(D) weH 169 3=

T & giaargetl Trefterie]
FUA TH fqUH SR AR ?
(A) T el ST Qe JHE 3Tl

(B) d1 =9 HiHecsmr feg 19 dl

(C) T TaT=a JEAH== W@ Heal

T

(D) < "fHEs frofaren siaeresTais
A& R A

29

[P.T.O.



94.

95.

96.

Which one of the following was
recommended by the Taxation
Enquiry Commission (1953-54) ?

(A)
(B)

Revitalizing Urban Government

The widening of the sphere of
taxation of urban bodies

(C) The constitution of a statewise

cadre of municipal employees

The segregation of certain taxes
for exclusive utilization for
Local Government

(D)

The Municipal Council can not levy
tax on one of the following :

(A) Environment Tax

(B) Education Tax

(C) Tax on Houses

(D) Professional Tax

Assertion (A), Reason (R) Pattern :
Assertion (A) : The post of District

Collector was first
created in 1781.

The District
Collector 1is the
Kingpin of district
administration.

Reason (R) :

Answer the question using the below
given codes :

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true and
(R) 1is not the correct
explanation of (A)

(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

94.

95.

96.

SEP - 21221/11—C

WTTAh! IO Tk SoRIeH-S-erad
HfHYE (1953-54) 7 TTwReT &
gt ?

(A) TG A e

(B) Tfen/3redl THehTam=an &Y gurei=
Y MY R0

(C) TRUIfeTerT ShH==A= TSAed hel
Tfed Lo
(D) TNfer ST TS SYANTES!

BIEESRE T CRERUIETURETY

TRURE WCATUsh! ShIoTdT FH TG, Iehd

e ?

(A) TIERT HT

(B) fogor =

(C) SHREA

(D) ZEEE &

faum (A) enfor RO (R) 9

faam A) : 1781 wE SR
e YoM Fmm & T

IS SNMHATHT
Segifasil 31 g&a @Y

T (R) :

@t Hehdiehiqd g gatg faer .

Hehdieh :

(A) (A) for (R) ST s 3R Sfor
(R) T (A) ¥ 3T TIRIHIT 378

(B) (A) 271 (R) St sIsR 3{1ed 9ol
R) T (A) 3 3T TILHRI R

(C) (A) & IR 38 99 (R) B I&
e

D) (A) B & 3R 97 (R) § IR
3
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97.

98.

99.

100.

Which one of the following was
recommended by the committee on
service conditions of Municipal
Employees (1965-68) ?
(A) Revitalizing Urban Government
(B) Widening the sphere of taxation

of urban bodies
(C) Constitution of a statewise

cadre of municipal employees
(D) Segregation of certain taxes for
exclusive utilization for local
government
Which one of the following is not a
source of income of the municipal
bodies ?
(A) Non-tax Revenue
(B) Cess
(C) Grants-in-aid
(D) Loans
Match List I with List IT and select
the correct answer from the codes
given below :

List I
(@) Governor
(b) Council of Ministers
(¢) Duties of Chief Minister
(d) Legislative Council
List II

(1)
(2)

167

169
(3) Article 155
(4) Article 163
Codes :

(@) b)) ()
A 1 2 O3
B @ Q) @
< 3 @ @ @

D B @ Q) @

Jawaharlal Nehru National Urban
Renewal Mission was launched by
the Prime Minister .........cc..c........
(A) Dr. Manmohan Singh

(B) Narendra Modi

(C) P.V. Narasimha Rao

(D) Rajiv Gandhi

Article
Article

(d)
(4)
(1)

97.

98.

99.

100.

SEP - 21221/11—C

ATk ShIvT Teh RTRRY HHSl 31

qfdq werd A% giada s

(1965-68) H hall Bl ?

(A) T IEAE e

(B) e THahmam=an e Womel™ 9
e HI0l

(C) TRUIfcART HHAI TS 8T el
RiGTECTU

(D) Tfer I WA SUANTERS

ffyed = faaetn &

TEATAUR! FIVA Th § TRE
IO WA A& ?
(A) TR-F Hegd
(B) ARIIR
(C) 3T
(D) st
T IO = I & oo ST @
feeiean ahdishrgd 4rd 3ar faer :
el 1
(@) oI
(b) HBUREE
() HEATAH Ha
(d) faum aftog
gt 10

hedH 167
hedH 169
(3) hetH 155
(4) <hetH 163
Wehdich :

(a)
(A) (1)
B) @)
© 3 @ @ @
D B @ @ (@)
ST ee AR e AfaHieh ol
e\ o1 99 U g§® %d
(A) ST "EEd fam
(B) T5 Wit
(C) W= Ro=rE
(D) T e

(1
2)

®)
(2)
3)

(c)
3)
(2)

(d)
(4)
(1)
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ROUGH WORK
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